Cariny

PHU KIEN TU BEP & TU A0 CAO CAP

dware Fitting:

<itchen & r

drobe |

@1

TALIANA

ferramen

BANG GIA PHU KIEN HOAN THIEN ITALIANA ferramenta

t a

Ha N¢i, Ngay 01 thang 01 Nam 2017

. A . Item .. | Dongia
Picture Decription Picture T BVT Pon gia bénglé
Hinh anh Mo ta Hinh anh ~ ND
( ) ( ) ( ) (M3 s6) (VND) (VND)
FLIPPER 14mm - Chédt dot go bd 2,400 2,640
N Shelf rt FLIPPER 0601020
elf suppo 10601 .
~ Br s g 186/ s | e 1,600 1,760
_
-
/' smo‘g; iol‘_’\';';;rr:g: PER g 10605010ZN |  chide 800 880
8, 32
FLIPPER 18mm - Chét dgt gd bd 2,400 2,640
<N
Euro d;‘g’::_;"g ;‘(IPPER \\, o 106040102N | chiéc 800 880
'’ “ 4
Shellf ;‘;’;’:ﬁr: \fvl_rfiz:ER g 10601030AB | chiéc 1,600 1,760
UNICO - Chét dgt gd
S
g -
we 1.
N Shelf nggfﬁr%':‘]icl\iwm | ‘r ) 10702010YA | chiéc 8,000 8,800
o
&
Shelf support UNICO @5 gre R
ppbright N arey r ) 10701010YA | chiéc 8,000 8,800
e Es
A x A
KERALA - Chot dot go nhua bo 3,500 3,850
S | KERA;’;:J‘:"/‘;;;S""“ ™ 12001000A8 | chiéc 2,000 2,200
4 KERA:Q:L?\S;S' @5 12001010AB | chiéc 1,500 1,650
. ! <
/ KERALA S|d;:"ci)c;wel @3 Zinc /f g 12001060YA
A x by
SPRING - Chot dot go (Io xo)
L o
~
> SPRING shelf support plastic x
~7 white @5 (min.T=16mm) chiee 5500 6,050
///
/ //
/
-
PAD - Chét c6 dinh
! <3
‘ 5
1 | PAD permanent dowel L35 @8 5
—~— i [ Euro for 18mm green , 2162300000 | chiéc 3,000 3,300
™™ LT
e - : ——{ l PAD pergg";gfa‘iiwe' L35 , 2162301000 | chiéc 3,000 3,300




ELEFANT connecting o 5
fitting 19 mm NK ﬁ 11901010YA | chiéc 38,000 41,800
8 3
Insert Nut M8x12x15 plain é 20103010GR
Support for PK2 19mm w/cam 114010301 | chiéc 4,000 4,400
pin ZK grey19
9 Bracket PK2 19mm with 11403010YA | chiéc 4,000 4,400
euro hole Nk
Template for PK 2 ‘ 1145001000
MAOI;Igrs;hntilfg ?::;POVC ' 11701070IL | chiéc 2,000 2,200
MAORI 19h'“0'|'; t,’\":c"“ with l 11710010YA | chiée 3,000 3,300
MAORI shelf support 11701100IL | chige 2,273 2,500
25-29mm grey
MAORI 25mm bracket g ~
) hi
with hole Nk l 11716010YA| chiéc 3,091 3,400
Connector dowel for VIS M8 - .
d.9 L.40 hole centre 25mm Zk / 212100402N | chiée
Insert Nut M8x12x15 plain @ 20103010GR chiéc
11
Grub screw M6x15,3mm Zk 21101060ZN chiéc
VIS connector d.35mm, e
double position 22mm Zk 0 216260002N chiée




13

14

Shelf support insertion on the

shelf SECRET MAXI SL25 1222400010 | chide 24,000 26,400
Grey G
Secret Maxi for 25mm, side \“ 1222600010 | chidc 6,000 6,600

bush

Template for body part,Secret
Maxi

1226200000

chiéc

15,000

16,500

Template for side part, Secret
Maxi

Shelf support MINISECURY with
2

pegs mm.5 Nk

Shelf support K-LINE w/1

1226400000

10206010YA

chiéc

chiéc

15,000

2,500

16,500

2,750

5-6mm pin @5 Cr

KUBIC main body

oin @5 Nk 10208020YA | chiéc 2,000 2,200
15
Rubber pad for K-LINE -
ubber pad for K-| — .
shelf support — ot 10208060AA chiéc 1,000 1,100
KRISTAL glass support 16113040KB | chiéc 21,000 23,100

pin @5 Nk/White y 16019021YA chiéc 16,000 17,600
KUBIC upper part w/o rubb .

glass 5/9mm Nk 16019130YA | chiéc 6,000 6,600

Shelf support Kalabrone 16220080KB chidc 78,000 85,200

Mini Bright Chrome




22

23

Shelf support Kalabrone
8+30mm Stainless

Shelf sup.KAIMAN
8-40mm stainless

Concealed shelf support
TRIADE MINI 25mm

16220010YD

16102020YD

1621401000

chiéc

chiéc

306,000

377,000

142,000

336,600

414,700

156,200

Bracket for
TRIADE MINI Zk

Concealed shelf support
TRIADE 25-40mm

16215040ZN

1621501000

chiéc

chiéc

87,000

139,000

95,700

152,900

Bracket for TRIADE Zk

Concealed shelf sup.
TRIADE MAXI 40mm

16215020ZN

1621601000

chiéc

chiéc

68,000

187,000

74,800

205,700

Bracket for
TRIADE MAXI Zk

Concealed shelf sup.TRIADE
XXL min.40mm

16215030ZN

1621701000

chiéc

chiéc

81,000

240,000

89,100

264,000




25

26

27

28

Picture
(Hinh anh)

34 mm allen wranah

ADJUSTMENT 0 - 18 mm

Decription
(Mo ta)

REKORD @12mm;

Picture
(Hinh anh)

Item
code
(Ma s6)

bVvT

Pon gia
(VND)

Pon gia
ban lé

(VND)

Hole centre=70mm.

hole centre 52mm 3030101000 chiéc 49,000 53,900
==
REKORD @12mm; 3030102000 | chisc 52,000 57,200
hole centre 70mm
N—
Level adjuster REKORD
@14mm 3030201000 chiéc 38,000 41,800
Hole centre=52 mm.
Level adjustor REKORD
@14mm 3030202000 | chiéc 43,000 47,300

Adjust.leveller INTEGRATO Z

330 H17mm 6 30108010EA chiéc 25,000 27,500
ADJUSTMENT Leveller
INTEGRATO A/../G height adjust 3010601000 chiéc 20,909 23,000
0-12 mm
ADJUSTMENT Leveller
INTEGRATO A/.../G height 3010602000 chiéc 25,455 28,000

adjust 0-25 mm

leveller ATACAMA J adj

harmonic steel

317010000 | chié 1 1

.20mm Zamak grey chiec 81,000 89,100
Insert Nut M8x12x15 plain & 20103010GR |  chiéc 2,000 2,200
PLINT CLIP 37mm, H 31501030W1 | chiéc 17,000 18,700




w/magnet grey

_ . . Item . Pon gia
Picture Decription Picture Pon gia a g_
L (Hinh anh) (M ta) (Hinh anh) | €°de | BVT | “ynpy | Danle
(M3 s5) (VND)
Nt nhan mé canh ctra K-PUSH TECH (dau cao su/dau nam cham)
K-PUSH TECH 14mm concealed / 57002020AB | chiéc 67,636 74,400
w/magnet white /)
Q
K-PUSH TECH 14mm concealed 5700202010 | chiéc 67,636 74,400
w/magnet grey
K-PUSH TECH 14mm concealed e
35 i / 57002040AB | chiéc 58,364 64,200
\/
36 ’ K-PUSH TECH 14mm concealed 5700204010 | chiéc 58,364 64,200
wi/buffer grey
37 K-PUSH TECH 20mm concealed / 57004020AB | chiéc 67,636 74,400
w/magnet white /)
@
(LA - 50 -
38 TS () |cPusH TECH 20mm concealed 5700402010 | chiéc 67,636 | 74,400
w/magnet grey
Lo 12 e 2
K-PUSH TECH 20mm concealed -
39 bt ¥ / 57004040AB | chiéc 58,364 64,200
\/
40 m @  |x-pUsH TECH 20mm concealed 5700404010 | chiéc 58,364 64,200
o Loe s 1 wi/buffer grey
41 K-PUSH TECH 37mm concealed / 57008020AB | chiéc 77,273 85,000
w/magnet white /
°
1 " - i
42 K-PUSH TECH 37mm concealed / 5700802010 | chiéc 77,273 85,000




37mm grey

. L . Item .. | Dongia

Picture Decription Picture bon gia = 9 5
m (Hinh anh) (M6 ta) (Hinhanh) | €ode | BVT | " (ynpy | Dbanle
(Ma s8) (VND)

K-PUSH TECH 37mm concealed e
43 g 57008040AB | chiéc 67,636 74,400
44 _ K-PUSH Tﬁlgrﬁzgz;"”cea'ed / 5700804010 | chiéc 67,636 74,400
K_PUSHzIJESnst:;! Hand / 57006020AB | chiéc 7,273 8,000
K-PUSH 2T0En?r:| ;rh:;' 14and / 5700602010 | chiéc 7,273 8,000
K-PUSH TECH shell 37 mm white / 57010020AB | chiéc 7,727 8,500
K-PUSH TECH shell 37 mm grey / 57010020AB | chiéc 7,727 8,500

K-PUSH TECH mounting plate L
T o s , 57006040AB | chiéc 6,000 6,600

K-PUSH TECH mounting plate L
50 14 and 20mm arey , 570060401 | chiéc 6,000 6,600

T
recommended fixing
Y \\\ at least 2 countersunk head
wood screws @ 3,5x16 mm .

51 s K-PUSH ;Eg;m‘l‘t’:'"g plate 57010040AB | chiéc 6,818 7,500
52 K-PUSH TECH mounting plate , 570100401 | chiéc 6,818 7,500




Item

Pon gia

K Push the sher
with magnat
CPTION 2: Ivisibls

OPTION 1: Vimils.

w/pin @5mm Nk

KRABY automatic opening

Picture Decription Picture Pon gia P
m (Hinh anh) (M6 ta) (Hinhanh) | €ode | BVT | " (ynpy | Dbanle
(M s6) (VND)
53 _ : gfépﬂin0:°:C?:v\'z';’;eNk W 55006100YA | chiéc 4,000 4,400
x ¥V AF@ g
54 K-PUSH round plate 410 55006040YA | chidc 4,000 4,400

L244; 42111013NN chiéc 275,000 302,500
N80 Beige
KRABY automatic opening x
L244; N100 Beige 42112013NN chiéc 275,000 302,500
KRABY automatic opening x
1.355; N120 Beige 42133013NN chiéc 400,000 440,000
Side bracket KRAB.Y Nk @ 42901030YC chiéc 19,000 20,900
screw holes fixing
Door support for lid stay Nk ﬂ 42918010YC chiéc 12,000 13,200
Plastic cover 4291901000 | chiéc 4,000 4,400

for door support




Picture
(Hinh anh)

Decription
(Mo ta)

KRABY frictioning

Picture
(Hinh anh)

Item
code
(Ma s6)

bVvT

Pon gia
(VND)

Pon gia
ban lé

(VND)

door support

\ 42012010NN hié 358,000
opening L244; N60 Beige \ cniee ! 393,800
KRABY frictioning : x
\ 42013010NN hi 358,000
opening L244; N90 Beige \ cniee ! 393,800
KRABY frictioning opening ) x
1355 N120 Beige \ 42033010NN chiéc 424,000 466,400
Side bracket KRABY Nk 42901030YC | chiéc 19,000 20,900
screw holes fixing
Door support for lid stay Nk g 42918010YC chiéc 12,000 13,200
Plastic cover for n 4291901000 chiéc 4,000 4,400

K12 System lift up

f. hole @15 Nk

L 24 NBO T-tet \ 48020460UZ | chiéc 352,000 387,200
K12 Sysmﬂ TURA I;t244mm; \ 48020480UZ | chiéc 352,000 387,200
K12 Sysﬂﬂ#pmttz‘mmm; \ 48020500UZ | chiéc 352,000 387,200
K12 SYS:.ehmol‘loglgr;Ek‘-‘t Nk % 48040160YA | chiéc 27,000 29,700

K12 System side bracket é 48040120YA | chige 39,000 42,900




58

59

60

65

ERACKETS 015:

g

Picture
(Hinh anh)

Picture
(Hinh anh)

Decription
(Mo ta)

K12 System drop down

Item
code
(Ma s6)

bVvT

Pon gia
(VND)

Pon gia
ban lé

(VND)

S P e 48060200UZ | chidc 417,000 458,700
K12 Lsésstsg rT‘)_Fr’n‘i‘:W" 48070200UZ | chiéc 490,000 539,000
K12 SYS:f%hmoi°gr1§r;iket Nk 48040160YA | chiéc 27,000 29,700
K12 System side bracket 48040120YA | chisc 39,000 42,900

f. hole @15 Nk

racammandad coumarsunk besd
e crews 83 S 18 25 e

Plate for KIMANA hinge Nk 40115000YA chiéc 70,000 77,000
KIMANA hinge L

main body Nk 40115010YA chiéc 78,000 85,800

KIMANA cover Nk 40115040YA chiéc 8,000 8,800

~.
~.

t

%
L
=
>

QUICK Worktop connector

@35mm Worktop connector

@30mm M8x50Zk 2161101000 BO 55,000 60,500
=
QUICK Worktop connector e 5
@30mm M8x150 Zk - ’ 2161102000 BO 65,000 71,500
3
QUICK Worktop connector o Pl 5
35mm M8x64 Zk 2 2162101000 BO 55,000 60,500
QUICK Work =
orktop connector e S A
@35mm M8x150 Zk P 2162102000 BO 65,000 71,500
f .
Round cap for Quick @30mm s 2161001000 BS 7,727 8,500
worktop connector
»
Round cap for QUICK L 2162001000 Bb 7,727 8,500

10



69

Cabinet hanger LIKU chiéc 184,000 202,400

66
Wall plate LIKU ZK chiéc 54,000 59,400
67 M0c treo am trén Bo 35,000 38,500
68 Méc treo am dudi Bo 30,000 33,000

L cai doi
WP1 walltfvlate toZtIJ(e split in (tréi + 14,000 15,400
0 pcs phai)
2 chiéc
LIBRA Hfl ha"gir (tréi + 76,000 83,600
screw fixing phai)

cai doi
WPII_ wall plate toz?(e (tréi + 14,000 15,400
split in two pcs phai)
LIBRA H2 hanger 3 2 chiéc 102,000 112,200

dowels + rotar. lever Zk




’ céi doi
WP1 wall plate to be 634500102ZN | (trdi + 14,000 15,400
split in two pcs Zk phai)
LIBRA H3 hanger chiéc
- ) pins D10 left Zk 634200502N | oo 44,000 48,400
iR abucETET
LIBRA H3 hanger chiéc
pins D10 right 2k ﬁ 634200402N | e 44,000 48,400
cai doi
WP2 wall plate ABC 634500102N | (tréi + 20,000 22,000
to be split in 2 Zk = phai)
LIBRA H4 hanger chiéc
\eft 7k 634202002N | oo 44,000 48,400
72 5
LIBRA H4 hanger i chiéc
63420210ZN . 44,000
right Zk i (phai) ' 48,400
cai doi
WP2 wall plate ABC 634500202N | (trdi + 20,000 22,000
to be split in 2 Zk - phai)
LIBRA H6 hanger L
wipin B15 left 7k % 63420510ZN | chiéc 139,000 152,900
LIBRA H6 hanger L
wipin B15 right Zk y 63420500ZN | chiéc 139,000 152,900
e e e o i s, s e« o

12



74

LIBRA CH wall hanging
vertical profile Type A
L.450mm w/1 end

LIBRA H7 dowel fixing with "peg

6400443100

chiéc

251,900

277,090

YR

78

H.80,5 MM ALUMINIUM BAR Cptional ¢

" Opticnal woad dowel @ € x 30 mm

peg joint

Aluminium profile H.40

joint" 63422210ZN chiéc 184,000 202,400
f/alum.bar left Zk
LIBRA H7 dowel fixing with
75 "peg joint" 63422200ZN | chiéc 184,000 202,400
f/alum.bar right Zk
cai doi
S WPS wall plate to be 63450050ZN | (tréi + 51,000 56,100
selt-tapping pen head split in two pcs Zk 2
screws 4.2 x 45 mm phai)
Wood dowel @8x30mm 6110001000 -
LIBRA H7 screw fixing with )
"peg joint" 63422250ZN | chiéc 184,000 202,400
f/alum.bar Left ZN 3 )
LIBRA H7 screw fixing with
"peg joint" 63422240ZN | chiéc 184,000 202,400
f/alum.bar Right ZN L
céi doi
WP5 wall plate to be 63450050ZN | (trai + 51,000 56,100
split in two pcs Zk -
phai)
Libra H7 Dowel fixing with M 60203540ZN 3,000 3,300

H. 40,2 MM ALUMINIUM BAR

L= 1092mm with 3 holes _ 6701092300 | thanh 255,000 280,500
Aluminium profile H.80,5 -
L.1092mm for Libra H7 6711092300 | thanh 385,000 423,500

w/3 holes

13



. . . Item .. | Don gia
Picture Decription Picture bon gia = g,
m (Hinh anh) (M6 ta) (Hinhanh) | €ode | BVT | " (ynpy | Dbanle
(Ma s6) (VND)
LINK Opening System x
47020020UZ hi 1,034,
79 N2E2 T-Mat T 020020U! chiéc 034,000 | 1,137,400
L
LINK Opening x
47038020UZ hi 1,163,000
System Q300 T-Met " chiee | 183 1,279,300
L
LINK Opening System U262, o
White T i = 47030020AE chiéc
L)
<
LINK Opening System U262T- x
Met : i = 47030020UZ chiéc
L]
-
Panelvit screw flat head PZ2 n
O e J 60113020YA | chiéc 1,200 1,320
Connecting tube with flat A
head M4x5x27 Nk / 20820010YA B6 2,000 2,200
Connecting tube with flat A
b MAx5R30 N / 20820020YA B6 2,000 2,200
Screw with flat head for - x
connecting tube M4x15 Nk y 20821020YA chiéc
o
o3
Su dung cho van day 16mm d chiéc 18,182 20,000
J Eura
Mé
ik
Su dung cho van day 25mm a% - chiéc 18,182 20,000
1/5/
=
CAM TARGET J12 Bo
Su dung cho van day 16mm chiéc 18,182 20,000
Su dung cho van day 25mm chiéc 18,182 20,000

14



Doule-ended dowel @7

L=38mm Zk

Door stop hole @5 2-mat.
transparent

%

2320301022

chiéc

NS 214050202N | chigc 20,900 22,990

89 ';D' Cross ‘f;’/‘g";:a%‘; fz"lzmmm 210040102N | 2 chiée 6,200 6,820
Grub ex10 ot socket Ny 211020302N | 2 chide 2,200 2,420

90 Double-ended dowel @7 M6 212020102N | chiéc 5,136 5,650

1,000

1,100

Door buffer SOFT transparent

Adhesive cover cap d.16

;@

23203050AA

chiéc

20 chiéc/

1,500

1,650

Grey 93520 . 230140701G sheet 12,000 13,200
Adnesive cover cap d 16 . 230140700N | 22| 13,000 13,200
Adhesi(\:/ﬁ ecrc>ryvegr1c1a8p d.16 . 23014070PS Ziﬁgﬁq 12,000 13,200
Adesive cover cap 416 . 23014070QY 2‘;;2'::‘:/ 12,000 13,200

15



oL . .. D ia
Picture Decription Picture S Pon gia d," g|'a
L (Hinh anh) (M ta) (Hinh anh) | €°de | BVT | “ynpy | Danle
(M3 s6) (VND)
Phu kién khac
97 2 Vit N& nhuia X1-8*40 (Vit 5x50) 6007308040 bo 4,000 4,400
98 \){\@ X Vit nd nhyaTSS 6x50 (Vit 3.8x65) 62200006060 |  bd 4,000 4,400
|| o %
99 Vit nd nhua RM-X5-10%8/30 64304b10080 chiéc 20,000 22,000
## Y NG nylon treo ta TDE 12/70 63200012070 | chiéc 26,000 28,600
- 3
] b
O
## \ > = Ng nylon treo tu TDE 14/75 63200014075 chiéc 30,000 33,000
Bu-I6ng nd nhya treo tu TDE N
#H /> 270 63100012070 |  bd 36,000 39,600
>
ik,
# b\K\\ Bu-long nd '112;-135"” t TDE 63100014075 |  bd 45,000 49,500
s Chét dot 961, ;//|t1 gg nhya MDE ezsozb(?mzoo b3 68,000 74,800
- >
e
S po = P
## L Chét dgt 9011;298 nhua MDE 628011)5)01700 bo 84,000 92,400
Cong ty TNHH Huing Gia
2202024 )60
: ZEN )
F@WL
GIAM POC
A . A o
Tran Viét Hung
G N phin gVt N Showroom HN: 150 Nouyén An Ninh, Dng i, HaiB& Trung, Ka NGi | Showroom HCM: 2637 ién Thanh, Png 13, Qudn 10, R HCM

Honghia

VRO INERRRY T 004) 36 28 666 Hotne (012 3628666 -Ematingiaryn | Tek 006 38621637 - Hoine 090 78341 -Emt hemcainy

16



